T e Bl 2022 FA—H ENFH K
KIAN KOK MIDDLE SCHOOL
JUNIOR ONE ENTRANCE EXAMINATION 2022

HFEA (BFE: 50 24 )
MATHEMATICS (TIME: 50 MINUTES)

%49 INSTRUCTIONS
1. PU-S&FA: 25 84M. 2B EAEE, FH BELALSFEELETZOFHERE,
Answer all 25 questions in Section A. Darken the correct answer for each question on your answer sheet.
2. THA-EM: 5AAM., EEERTRENTARMESE, MAELTRLMFAREESE,
Answer all 5 questions in Section B. Write your answer on the answer sheet. Show the mathematical working clearly.

Wia: #FM 25X 3% =75%
Section A: Objective questions 25 X 3% = 75%
1. MAEHE$H7.10878 7.
Express 7.108 million as an integer.
A. 710800 B. 7108 000 C. 701800 D. 7180 000

2. H 9981 F= 22 #9AR, B EE R AL ME,
Calculate the product of 9 981 and 22, and round off the answer to the nearest ten thousand.
A. 219000 B. 219 582 C. 220000 D. 229 000

3. P +(51+187) =6
P RA+ 241447
What is the value of P ?

A. 136 B. 238 C.1400 D.1428

4. 3850 4 60% =~ %V?
Calculate 60% of 3 850.
A. 1500 B. 1540 C.2300 D. 2310

5 FH+ 0.038 F— 63145 = 2

3
3 million + 0.03 million — 63145 =7?

A. 281 855 B. 341 855 C. 411145 D. 468 134

6. tH 40+32x5,
Calculate 40 + 32 x 5.
A.72 B. 160 C. 200 D. 360
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10.

11.

12.

13.

14.

15.

375 & Q # 100 4&. i#F Q KT 0.6 49{ER % ) ?
100 times of Q is 375. What is the value of Q if Q is multiplied by 0.6?
A.2.25 B. 22.5 C. 225 D. 2250

fe 2.025 AR R 54
Express 2.025 as a fraction in the lowest term.

25 25
2— B.2— C.2— D.2—
1000 100 100 40
VAT A 12:45a.m. &9 24 BHitetik?

Which of the following is the 24 — hour clock format of 12: 45 a.m.?

A. 1245 B. 1345 C. 0045 D. 0145
141625ml+5 = ml
A. 2.925 B. 29.25 C. 2925 D. 2925

K 20 £ 30 Z &g FHEZ A,
Find the sum of the odd numbers between 20 and 30.

A.75 B. 96 C. 100 D. 125

MmAPBEMA RM35 (T —KRMHA RM50 693, #Hkthmm A7 e9dr4ea 40tk

Lili bought a novel with an original price of RM 50 at the book fair for RM 35. Find the percentage discount that
Lili obtained.

A. 70% B. 65% C.35% D.30%

5 MNRF-FHKEL 7, AFONKFEZ 4. 7. 8 #2 9, REF BEANKF,
The average of 5 numbers is 7, given four of the numbers are 4, 7, 8 and 9, find the fifth number.

A. 6 B.7 C.8 D.9

MRS A 2020 £ 12 A 25 B £2021 2 A 15 B A — Ak ARE. LRAREARS D
R7?

Mr. Vun participated in a physical training course from 25" December 2020 to 15" February 2021. How many days
did this course last?

A.51K B.52 K C.53 XK D.54 X
51 days 52 days 53 days 54 days

X 49cm & 1km 8%V a4Htt.
Express 49 c¢m as percentage of 1 km.

A. 49% B. 4.9% C.0.49% D. 0.049%
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16.

17.

18.

19.

20.

21.

DAL REEZTR— AR FE L e — KL, H-FHAT 40 AP TR —AMEL, TAREKF
AE W &9 B 1) e T AR AR LG9 BT IR 2 50 3. DBART B A R REFAEL?
Xiao Ming needed to complete a Mathematics assignment and a Chinese assignment today. He took an

average of 40 minutes to finish an assignment. The ratio of time spent on Mathematics assignment to
Chinese assignment is 5: 3. How long did it take Xiao Ming to finish his Mathematics assignment?

A. 40 54 B. 45 54 C.50 o 4%F D. 55 4+
40 minutes 45 minutes 50 minutes 55 minutes

[ 5 7,11, 17, X, 35, Y ]

A1

Diagram 1

A1 E2r—5%7. #HRE X+VY 6914,
Diagram 1 shows a group of number sequence. Find the value of X + Y.
A. 62 B.70 C.72 D. 80

WZ RN AFNTRM250, Am, BRENTAF NN LRT20%. +He Rkt
ARMBMAETGET 3 ATHAZ L, EZINZ VA

The original price of carrots was RM 2.50 per kilogram. However, the price was increased by 20%.
Calculate how much Ms. Lim would have to pay if she bought 3 kg of carrots with the latest price.

A.RM 12 B.RM9 C. RM6 D. RM3

4
E () ZHAAaKR?

What number must be written in the ( )?

1 3
A 2= B.3 C. 4 D.2-
4 4

R RAELSF61Y, Rk )LayFE L 38 . HH M -F )6 A b A fetbay 4o LAY 58589 B fe,
Mr. Zhou is 61 years old this year, and his daughter is 38 years younger than him. Calculate the sum of
the ages of Mr. Zhou and his daughter two years later.

A. 23 B. 60 C.78 D. 88

BT ES>HNAE 10kg #= 5000 g 94748, KEDNBREH THPW - . THTEZ) kg @
AR ?

There were 10 kg and 5000 g lemons in the two boxes respectively. Fruit vendors sold gof them. How
many kilograms of lemon are left?

A.3 kg B.6 kg C.9kg D.12 kg
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22.

23.

24.

25.

B 2 895 B B G K BT =AY E S AT A A BT .
HELEERT 5 NIRRT =AES,
WREIBERT % 4rsad?
The pie chart in Diagram 2 shows the time taken of Simon to
perform the three activities.
Simon spends a total of 5 hours for the three activities.
How much time does Simon spend running?

A. 75 %%/ minutes B. 90 44/ minutes

A 2

C. 120 %%¥/ minutes D. 135 %4%/ minutes Diagram 2

B3 EF—ALiR-FaE,

MM EE N REHGESLmAFH 3 NEL,

B@ERRMTH 4 Nz, N EGLTRRAMFA?

Diagram 3 shows a Cartesian plan.

The horizontal distance from point M to point N is 3 units to

the left, then 4 units down for the vertical distance.

What are the coordinates of point N?
A. (0,0) B. (1,0) A 3
C.(0,1) D. (1,1) Diagram 3

H42TAFEETHKE.

B+ 25 B ATk A BTK—13,

4 5% T A A3 FRT B 9EKAAL 1.5m.
—5%F A WKEASY cm?

Diagram 4 shows the length of the two ropes.

It shows that rope B is twice as long as rope A.

The total length of 4 ropes A and 3 ropes B is 1.5 m.
What is the length of rope A in cm?

A.0.15cm B.1.5cm
C.15cm D. 150 cm

K5 87— RRE KNG ETFT ARG K T
A KAE 46 cm, FRE k 891E,
Diagram 5 shows a rectangle composed of squares of

different sizes. The perimeter of the whole figure is
46 cm, find the value of k.

A.3cm B.3.5cm
C.4cm D.5cm

A/ 5

Diagram 5
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s A5 X5% =25% 78
Section B: Subjective questions 5 X 5% = 25% Section B o5

1. #H[10+ 35+ (15—4 x 2)] + 85,
Calculate [10 + 35 + (15 — 4 x 2)] + 85.
&% / Answer:

2. HH.5m8cm7mmx3, FU m hHEH,
Express5m 8 cm 7 mm X 3 in m.
A%/ Answer:

F'

Fe g AN R AL BB R, — AW A RM 35, #MEFA 6% 494 FHf 10% #9IR
WA= FEFZ I R?

Alice has buffet with four friends. The charge for one person is RM 35. They also have to pay 6% consumption tax
and 10% service charge. How much do they have to pay in total?

&%/ Answer:

3. Em#
ko

7



4.

(@)

(b)

Hé6msmE A TFAREH X EBEGHZ,
The clock face in Diagram 6 shows the time when Xiao Ying left from home
to the library in the afternoon.

NEFRPERCEE 3:30p.m. T, #ERLT S VAR
LB H1E?

It was 3: 30 p. m. when Xiao Ying arrived at the library. How much
time did she spend on the way from home to the library?

%%/ Answer:

B 6

Diagram 6

P_

NBAERBBEST 105 p4EHHF. A 12 Dibitetsk, FHE BB FR PG,
Xiao Ying stayed in the library for 105 minutes. Calculate the time when Xiao Ying left the library in 12 —

hour clock format.
22 / Answer:

H7E2-HALRLETH-FaERE, 4
Diagram 7 shows the floor plan of Mr. Wong’s yard.

it AL R EANETHALR, $£ER5Y m#© g

5m

BAZ?

If Mr. Wong wants to enclose the entire yard, how many meters T
of fence is needed in total? b4

AN

%%/ Answer:
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16 m
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Diagram 7




